PROTO®

PROTO

Item # 1TUDWS
Mfr. Model # JCS-1258MAS

Set Includes:

Mfg Part # Description Qty Mfg Part # Description Qty
J4900-7C SET HEX BIT 3/8 DR 7 PC (set break- 1 J1211MASD WRENCH COMB 11MM 12 PT 1
down indented below) J1210MASD WRENCH COMB 10MM 12 PT 1
J49903/8 SOCKET HEX BIT 3/8 DR 3/8 1 1200MA WRENGH Comb Omm 12 Pt ]
J49905/16 SOCKET HEX BIT 3/8 DR 5/16 1 11208MA WRENGH Comb 8mm 12 Pt ]
J49901/4 SOCKET HEX BIT 3/8 DR 1/4 1 J1207MA WRENGH Comb 7mm 12 Pt ]
J49907/32 SOCKETHEX BIT 3/8 DR 7/32 ! J1200FASD SET WRENCH COMB 15 PC 12 PT (set | 1
J49903/16 SOCKET HEX BIT 3/8 DR 3/16 1 breakdown indented below)
J49901/8 SOCKET HEX BIT 3/8 DR 1/8 1 J1240ASD WRENCH COMB 1-1/4 12 PT 1
J49905/32 SOCKET HEX BIT 3/8 DR 5/32 1 J1236ASD WRENCH COMB 1-1/8 12 PT 1
J52112 SET SOCKET 3/8 DR 13 PC 12 P (set 1 J1234ASD WRENCH COMB 1-1/16 12 PT 1
breakdown indented below) J1232ASD WRENCH COMB 112 PT 1
J5008 SOCKET 3/8 DR 1/4 12 PT DEEP 1 1230ASD WRENCH COMB 15/16 12 PT ]
J5010 SOCKET 3/8 DR 5/16 12 PT DEE 1 J1298ASD WRENCH COMB 7/8 12 PT ]
J5012 SOCKET 3/8 DR 3/8 12 PT DEEP 1 1226ASD WRENCH COMB 13/16 12 PT ]
J5014 SOCKET 3/8 DR 7/16 12 PT DEE 1 J1924ASD WRENCH COMB 3/4 12 PT ;
J5016 SOCKET 3/8 DR 1/2 12 PT DEEP 1 11299A8D WRENGH COMB 11/16 12 PT ]
J5018 SOCKET 3/8 DR 9/16 12 PT DEE 1 J1220ASD WRENCH COMEB 5/8 12 PT ;
J5020 SOCKET 3/8 DR 5/8 12 PT DEEP 1 1218ASD WRENGH COMB 9/16 12 PT ]
J5022 SOCKET 3/8 DR 11/16 12 PT DE 1 J1216ASD WRENCH COMB 1/212 PT ;
J5024 SOCKET 3/8 DR 3/4 12 PT DEEP 1 J1214ASD WRENCH COMB 7/16 12 PT ]
J5026 SOCKET 3/8 DR 13/16 12 PT DE 1 J1212A8D WRENCH COMB 3/8 12 PT ]
J5028 SOCKET 3/8 DR 7/8 12 PT DEEP 1 112108 WRENGH Comb 5/16 12 Pt ]
J5030 SOCKET 3/8 DR 15/16 12 PT DE 1 1316AYP 1602 BALL PEEN HAMMER ;
J5032 SOCKET 3/8 DR 112 PT DEEP ! J18545 KNIFE LOCKBACK 5 W/LTR SHEATH 1
J1200R-MASD | SET WRENCH COMB 18PC 12PT MET- 1 J278GXL 8"PLIER SLIP-JOINT W/GRIP(NATURAL FINISH| 1
RIC (set breakdown indented below)
J1224MASD WRENCH COMB 24MM 12 PT 1 J4255 d:&: i%';ﬁ:dl':; :NE)VERSE I B
A 22D UIRENE (0L 920l T Pl L J4022T PULLER TIP DETACHABLE STA 1
J1222MASD WRENCH COMB 22MM 12 PT 1 J4056-4 PULLER JAW REVERSIBLE 4 R 3
J1221MASD WRENCH COMB 21MM 12 PT 1 J4056PN BULLER PIN PIVOT 5
J1220MASD WRENCH COMB 20MM 12 PT 1 J42058 PULLER SCREW FORCING ACME 1
Sl S AN G e R U LT L J4250N PULLER NUT ADJ REVERSIBLE 1
J1218MASD WRENCH COMB 18MM 12 PT 1 42558 BULLER YOKE 3 WAY JAW ACM ]
J1217MASD WRENCH COMB 17MM 12 PT 1
J1216MASD WRENCH COMB 16MM 12 PT 1
J1215MASD WRENCH COMB 15MM 12 PT 1
J1214MASD WRENCH COMB 14MM 12 PT 1
J1213MASD WRENCH COMB 13MM 12 PT 1
J1212MASD WRENCH COMB 12MM 12 PT 1




Mfg Part # Description Qty Mfg Part # Description Qty
J47202 SET SOCKET 1/4 DR 12 PC METR (set 1 Ja74L SOCKET 1/4 DR 7/16 6 PT DEEP 1
breakdown indented below) Ja716 SOCKET 1/4 DR 1/2 6 PT 1
J4704LM SOCKET 1/4 DR 4MM 6 PT DEEP 1 6L SOGKET 1/4 DR 1/2.6 PT DEEP ;
J47055LM SOCKET 1/4 DR 5.5MM 6 PT DEEP 1 s Ty eapp— ]
J4705LM STENEMR L O L Ja718L SOCKET 1/4 DR 9/16 6 PT DEEP 1
J4706LM SOCKET 1/4 DR 6MM 6 PT DEEP 1 a7y SOCKET BIT 174 DR #1 PHILL ;
J4707LM SOCKET 1/4 DR 7MM 6 PT DEEP 1 738 SOCKET BIT 1/4 DR #2 PHILLI ]
J4708LM SOCKET 1/4 DR 8MM 6 PT DEEP 1 a3 SOCKET BIT 174 DR SLOTTED ]
J4709LM SOCKET 1/4 DR 9MM 6 PT DEEP 1 avaa SOCKET BIT 1/4 DR SLOTTED ]
J4710LM SOCKET 1/4 DR 10MM 6 PT DEEP 1 s SOCKET BIT 1/4 DR SLOTTED ]
JA711LM SOCKET 1/4 DR 11MM 6 PT DEEP 1 4750 EXTENSION 1/4 DR 2 ]
Ja712LMm SOCKET 1/4 DR 12MM 6 PT DEEP 1 760 EXTENSION 1/4 DR 3 ;
J4713LM SOCKET 1/4 DR 13MM 6 PT DEEP 1 a76n EXTENSION 1/4 DR 6 ;
JA714LM SOCKET 1/4 DR 14MM 6 PT DEEP 1 768 EXTENSION FLEX 1/4 DR6 ;
J47200 brse?;(:‘?v?:ﬂ'yl ‘:eZRblfofv‘): 6 PT (set 1 J4766 HANDLE HINGE 1/4 DR 5-3/4 1
J4704M SOCKET 1/4 DR 4MM 6 PT 1 J4769 DRIVER SOCKET 1/4 DR !
J E— SOCKET 1/4 DR 5.5MM 6 PT ; J4770A 1/4 Dr. Universal Joint 1
47050 SOCKET 1/4 DR 5MM 6 PT ] J4785 HANDLE SLIDING T 1/4 DR 1
J4706M SOCKET 1/4 DR 6MM 6 PT 1 452209 bf::;gg;:ﬁ;gé ?2:;;25)1 2PTM (set 1
J4707M SOCKET1/4 DR 7MM 6 PT ! J5008M SOCKET 3/8 DR 8MM 12 PT DEEP 1
J4708M SUENE R RREVLIGIPT ! J5009M SOCKET 3/8 DR 9MM 12 PT DEEP 1
J4709M SOCKET 1/4 DROMM 6 PT ! J5010M SOCKET 3/8 DR 10MM 12 PT DEE 1
J4710M ST DS RLLLA G ! J5011M SOCKET 3/8 DR 11MM 12 PT DEE 1
J471IM SOCKET1/4 DR 1TMM 6 PT ! J5012M SOCKET 3/8 DR 12MM 12 PT DEE 1
Jaziam SUCE R RIS LA AT L J5013M SOCKET 3/8 DR 13MM 12 PT DEE 1
J4713M SOCKET 1/4 DR 13MM 6 PT ! J5014M SOCKET 3/8 DR 14MM 12 PT DEE 1
J4714M SUCNETE DIRE L EIAT ! J5015M SOCKET 3/8 DR 15MM 12 PT DEE 1
J4706 SOCKET1/4DR3/16 6 PT ! J5016M SOCKET 3/8 DR 16MM 12 PT DEE 1
J4706L SO AP ! J5017M SOCKET 3/8 DR 17MM 12 PT DEE 1
J4707 SOCKET1/4DR 7/326 PT ! J5018M SOCKET 3/8 DR 18MM 12 PT DEE 1
J4707L LSS A I ER O IR ! J5019M SOCKET 3/8 DR 19MM 12 PT DEE 1
J4708 SOCKET 1/4DR1/46 PT ! 452216 SET SOCKET 3/8 DR 12 PC 12PT (set 1
J4708L SOCKET 1/4 DR 1/4 6 PT DEEP 1 breakdown indented below)
J4708S SOCKET 1/4 DR 1/4 8 PT 1 J5208M SOCKET 3/8 DR 8MM 12 PT 1
J4709 SOCKET 1/4 DR 9/32 6 PT 1 J5209M SOCKET 3/8 DR 9MM 12 PT 1
J4700L SOCKET 1/4 DR 9/32 6 PT DEEP 1 J5210M SOCKET 3/8 DR 10MM 12 PT 1
J4710 SOCKET 1/4 DR 5/16 6 PT 1 J5211M SOCKET 3/8 DR 11MM 12 PT 1
Ja71oL SOCKET 1/4 DR 5/16 6 PT DEEP 1 J5212M SOCKET 3/8 DR 12MM 12 PT 1
J4710S SOCKET 1/4 DR 5/16 8 PT 1 J5213M SOCKET 3/8 DR 13MM 12 PT 1
Ja7m SOCKET 1/4 DR 11/32 6 PT 1 J5214M SOCKET 3/8 DR 14MM 12 PT 1
JA711L SOCKET 1/4 DR 11/32 6 PT DEEP 1 J5215M SOCKET 3/8 DR 15MM 12 PT 1
J4712 SOCKET 1/4 DR 3/8 6 PT 1 J5216M SOCKET 3/8 DR 16MM 12 PT 1
Ja712L SOCKET 1/4 DR 3/8 6 PT DEEP 1 J5217M SOCKET 3/8 DR 17MM 12 PT 1
J47128 SOCKET 1/4 DR 3/8 8 PT 1 J5218M SOCKET 3/8 DR 18MM 12 PT 1
J4714 SOCKET 1/4 DR 7/16 6 PT 1 J5219M SOCKET 3/8 DR 19MM 12 PT 1




Mfg Part # Description Qty Mfg Part # Description Qty
J52124 SET SOCKET 3/8 DR 13 PC 12 P (set 1 J1131 WRENCH BOX 5/8 X 3/4 12 PT SH 1
breakdown indented below) J1120 WRENCH BOX 5/16 X 3/8 12 PT S 1
J5232 SOOI 2R 2 1P L JK14112RF 1/4X1.5IN KEYSTONE RND BAR 1
45230 SOCKET 3/8 DR15/16 12 PT ! JKB1404RPF 1/4X4IN BOLSTER KEYSTN RD HP BR 1
J5228 SUCE S IR 1217 ] L SCREWDRIVER SLOTTED KEYSTONE RD
J5226 SOCKET 3/8 DR 13/16 12 PT 1 JKB31604RPF 3/16X4 1
J5224 SOCKET 3/8 DR 3/4 12 PT 1 JKB51606RPF 5/16X6IN BOLSTER KEYSTONE ROUND BAR 1
J5222 SOCKET 3/8 DR11/16 12 PT 1 JKB3808RPF 3/8X8IN BOLSTER KEYSTONE ROUND BAR 1
15220 SOCKET 3/8 DR 5/8 12 PT 1 JKB3812RPF SCREWDRIVER SLTD KEYSTONE RD 3/8 X 1
J5218 SOCKET 3/8 DR 9/16 12 PT 1 JA04A 4IN REGULAR DUTY C-CLAMP 1
J5216 SOCKET 3/8 DR 1/2 12 PT 1 SR D772 Ok 2Pl 14 L
J5214 SOCKET 3/8 DR7/16 12 PT 1 JA772TA 1/4 Dr. 12 Point, 5/16 1
J5212 SOCKET 3/8 DR 3/8 12 PT 1 J4773TA 1/4 Dr. 12 Point, 3/8 1
J5210 SOCKET 3/8 DR 5/16 12 PT 1 JA774TA 1/4 Dr. 12 Point, 7/16 1
J5208 SOCKET 3/8 DR 1/4 12PT 1 J1308AVP 80Z BALL PEEN HAMMER 1
J5208S SOCKET 3/8 DR 1/4 8 PT 1 57-522 ST HMMR 180Z SOFT 1
J52108 SOCKET 3/8 DR 5/16 8 PT 1 J2066G PLIER DIAGONAL W/GRIP 1
152148 SOCKET 3/8 DR 7/16 8 PT 1 J276GXL 6" PLIER SLIP-JOINT W/GRIP(NATRL FINISH) 1
J5216S SOCKET 3/8 DR 1/2 8 PT 1 J291NC PLIER LOCKING STRAIGHT 7 1
J5241 SOCKET BIT 3/8 DR #2 PHILLIP 1 J3000H SET WRENCH OPEN END 10 PC (set 1
breakdown indented below)
J5242 SOCKET BIT 3/8 DR #3 PHILLIP 1
J3050 WRENCH OPEN END 1-1/16 X 1-1/8 1
J5243 SOCKET BIT 3/8 DR #4 PHILLIP 1
J3045 WRENCH OPEN END 15/16 X 1 1
J5246 SOCKET BIT 3/8 DR SLOTTED 1
J3040 WRENCH OPEN END 13/16 X 7/8 1
J5247 RATCHETOR 3/8 DR 1
J3035 WRENCH OPEN END 11/16 X 3/4 1
J5260 EXTENSION 3/8 DR 3 1
J3031 WRENCH OPEN END 5/8 X 3/4 1
J5260-06 EXTENSION 3/8 DR 6 1
J3030 WRENCH OPEN END 9/16 X 5/8 1
J5262 EXTENSION 3/8 DR 12 1
J3026 WRENCH OPEN END 1/2 X 9/16 1
J5265 HANDLE HINGE 3/8 DR 7-7/8 1
J3025 WRENCH OPEN END 7/16 X 1/2 1
J5268 EXTENSION 3/8 DR 8 1
J3020 WRENCH OPEN END 3/8 X 5/16 1
J5270A 3/8 Dr. Universal Joint 1
J3018 WRENCH OPEN END 1/4 X 5/16 1
J52102 SET SOCKET 3/8 DR 7 PC 12 PT (set 1
breakdown indented below) J30000A SET WRENCH OPEN END 10 PC (set 1
breakdown indented below)
J5273A 3/8 Dr. 12 Point, 3/8 1
J30607 WRENCH OPEN END 6MM X 7MM 1
J5274A 3/8 DR 12 Point 7/16 1
J30809 WRENCH OPEN END 8MM X 9MM 1
J5275A 3/8 Dr. 12 Point, 1/2 1
J31011 WRENCH OPEN END 10MM X 11MM 1
J5276A 3/8 Dr. 12 Point, 9/16 1
J31213 WRENCH OPEN END 12MM X 13MM 1
J5277A 3/8 Dr. 12 Point, 5/8 1
J31415 WRENCH OPEN END 14MM X 15MM 1
J5278A 3/8 Dr. 12 Point, 11/16 1
J31617 WRENCH OPEN END 16MM X 17MM 1
J5279A 3/8 Dr. 12 Point, 3/4 1
J31819 WRENCH OPEN END 18MM X 19MM 1
J5280AG HANDLE SPEEDER 3/8 DR 1
J32022 WRENCH OPEN END 20MM X 22MM 1
J5285 HANDLE SLIDING T 3/8 DR 1
J32123 WRENCH OPEN END 21MM X 23MM 1
J795A SET WRENCH ADJUSTABLE 3 PC 1
J32426 WRENCH OPEN END 24MM X 26MM 1
J810HD WRENCH PIPE 10 1
J4770-11 SET HEX BIT 1/4 DR 11 PC (set break- 1
J1122 WRENCH BOX 3/8 X 7/16 12 PT S 1 down indented below)
J1126 WRENCH BOX 1/2 X 9/16 12 PT S 1

J47701/16

SOCKET HEX BIT 1/4DR 1/16




Mfg Part # Description Qty Mfg Part # Description Qty
J47705/64 SOCKET HEX BIT 1/4 DR 5/64 1 J9210 NUT DRIVER 5/16 1
J47703/32 SOCKET HEX BIT 1/4 DR 3/32 1 J9209 NUT DRIVER 9/32 1
J47707/64 SOCKET HEX BIT 1/4 DR 7/64 1 J9208 NUT DRIVER 1/4 1
Ja7701/8 SOCKET HEX BIT 1/4 DR 1/8 1 J9207 NUT DRIVER 7/32 1
J47709/64 SOCKET HEX BIT 1/4 DR 9/64 1 J9206 NUT DRIVER 3/16 1
J47705/32 SOCKET HEX BIT 1/4 DR 5/32 1 J4980 SET HEX KEY 13PC 1
J47703/16 SOCKET HEX BIT 1/4 DR 3/16 1 J4984 SET HEX KEY 9PC METRIC 1
J47707/32 SOCKET HEX BIT 1/4 DR 7/32 1 J1100S-M SET 11PC METRIC BX WRENCH 12P 1
J47701/4 SOCKET HEX BIT 1/4 DR 1/4 1 (set breakdown indented below)

J47705/16 SOCKET HEX BIT 1/4 DR 5/16 1 J1050M WRENCH BOX 6 X 7MM 12 PT !

J4770-6 SET HEX BIT 1/4 DR 6 PC M (set break- 1 J105T™ WRENCH BOX 8 X 9MM 12 PT !

down indented below) J1053M WRENCH BOX 10 X 11MM 12 PT 1
J4770-6M SOCKET HEX BIT 1/4 DR 6MM 1 J1057M WRENCH BOX 12 X 13MM 12 PT 1
J4770-5M SOCKET HEX BIT 1/4 DR 5MM 1 J1061M WRENCH BOX 14 X 15MM 12 PT 1
J4770-4M SOCKET HEX BIT 1/4 DR 4MM 1 J1064M WRENCH BOX 16 X 18MM 12 PT 1
J4770-3M SOCKET HEX BIT 1/4 DR 3MM 1 J1065M WRENCH BOX 17 X 19MM 12 PT 1
J4770-2.5M SOCKET HEX BIT 1/4 DR 2.5MM 1 J1072M WRENCH BOX 21 X 24MM 1
J4770-2M SOCKET HEX BIT 1/4 DR 2MM 1 J1073M WRENCH BOX 22 X 24MM 12 PT 1
J52210H 3/8 & 1/2 DR 10PC MM HEX (set break- 1 J1077M WRENCH BOX 27 X 30MM 12 PT 1
down indented below) J1079M WRENCH BOX 30 X 32MM 12 PT 1
J4990-10M SOCKET HEX BIT 3/8 DR 10MM 1 e T e em ]
J4990-4M SOCKET HEX BIT 3/8 DR 4MM 1 10-099 ST KNF RETRACT CARDED ]
J4990:5M SOCKET HEX BIT 3/8 DR SMM ! J1100R SET WRENCH BOX 7 PC 12 PT (set 1
J4990-6M SOCKET HEX BIT 3/8 DR 6MM 1 breakdown indented below)
J4990-7M SOCKET HEX BIT 3/8 DR 7MM 1 J1170 WRENCH BOX 5/16 X 3/8 12 PT 1
J4990-8M SOCKET HEX BIT 3/8 DR 8MM 1 J1171 WRENCH BOX 7/16 X 1/2 12 PT 1
J4990-9M SOCKET HEX BIT 3/8DR X 9MM 1 J1172 WRENCH BOX 9/16 X 5/8 12 PT 1
J5441-12M SOCKET HEX BIT 1/2 DR 12MM 1 J1173 WRENCH BOX 11/16 X 3/4 12 PT 1
J5441-14M SOCKET HEX BIT 1/2 DR 14MM 1 J1174 WRENCH BOX 13/16 X 7/8 12 PT 1
J5441-17M SOCKET HEX BIT 1/2 DR 17MM 1 J1175 WRENCH BOX 15/16 X 1 12 PT 1
J5257F 3/8 DR ROUND HEAD FLEX 1 J1176 WRENCH BOX 11/16 X 11/8 12 1
J706B WRENCH ADJUSTABLE 6 1 J1190A SET WRENCH BOX RATCHETING 5 P 1
JB14HD WRENCH PIPE 14 : (set breakdown indented below)
JCP1803RF 1/8X3IN CABINET ROUND BAR PRECISON 1 JT195A WRENCH RATBOX 3/4 X 7/8 12 P !
JCP1804RF 1/8X4IN CABINET ROUND BAR PRECISI 1 JTT94A WRENCH RATBOX 5/8 X T1/16 12 !
JCP1808RF 1/8X8IN CABINET ROUND BAR PRECISI 1 J1193TA WRENCH RAT BOX 1/2 X 9/16 12 !
JC31604RF 3/16X4IN CABINET ROUND BAR 1 JI192TA UIREN S A SO E I 1 !
JC31608RF 3/16X8IN CABINET ROUND BAR 1 JIT9TTA WRENCH RAT BOX 1/4 X 5/16 12 !
J9200DB | SETNUT DRIVER 11 PC (set breakdown | 1 J1190MA bfeEaTk(‘ﬁ"‘NEnNig:'eﬁ?e’; r;‘:m','; ERCERIICE
indented below)
19220 NUT DRIVER 5/8 ] J1191M-A WRENCH RAT BOX 7MM X 8MM 6 PT 1
. T BRVER G ] J1192M-A WRENCH RAT BOX 9MM X 10MM 6 P 1
19216 NUT DRIVER 1/2 ] J1193MA-A WRENCH METRIC RAT BOX 11MM X 1
J9214 ST BRVER S ] J1194MA-A WRENCH METRIC RAT BOX 12MM X 1
19212 NUT DRIVER 3/8 ; J1195M-A WRENCH RAT BOX 15MM X 17MM 12 1
. NI EEIVER S /6 1 J14306 HAMMER BRASS 1-1/2 LB 1




Mfg Part # Description Qty Mfg Part # Description Qty
J209G PLIER DIAGONAL W/GRIP 1 J3753 WRENCH FLARE NUT COMB 1/2 6 P 1
J226G PLIER NEEDLE NOSE SIDE CU 1 J3752 WRENCH FLARE NUT COMB 7/16 6 1
J227G PLIER DUCKBILL W/GRIP 1 J3751 WRENCH FLARE NUT COMB 3/8 6 P 1
J268G PLIER LINEMANS W/GRIP 1 J298 PLIER WIRE STRIPPERS 1
J272G PLIER END CUTTING W/GRIP 1 J2375 RETRIEVER MAG 16-3/4 TELE 1
J46S2 SET PUNCH + CHISEL 26PC (set break- 1 J2373 MIRROR INSPECT RECT 2-1/8 1
I R (E2ET) J2108 HOLDER PUNCH + CHISEL 1
JB6A1/252 CHISEL COLD 5/8 ! J1248 WRENCH COMB 1-1/2 12 PT 1
JB6AT/452 CHISEL COLD 5/16 L J1246 WRENCH COMB 1-7/16 12 PT 1
J86ATX8S2 CHISEL COLD 1 3/16 1 J1244 WRENCH COMB 1-3/8 12 PT 1
LI O[5 R T/ L J1242 WRENCH COMB 1-5/16 12 PT 1
JB6A3/4X8S2 CHISEL COLD 7/8 1 J5260-06W EXTENSION WOBBLE 3/8 DR 6 1
Sl Alee CUlCEECOREE L J5260W EXTENSION WOBBLE 3/8 DR 3 1
JB6AS/8S2 CHISEL COLD 3/4 ! J5316 SOCKET 1/2 DR 1/2 12 PT DEEP 1
SEI VUl SRS L J5318 SOCKET 1/2 DR9/16 12 PT DEE 1
JB6A7/8X8S2 CHISEL COLD 1 ! J5322 SOCKET 1/2 DR 11/16 12 PT DE 1
212 ALNEE CAMTER 12 L J5324 SOCKET 1/2 DR 3/4 12 PT DEEP 1
J413/852 PUNCH CENTER 3/8 1 J5332 SOCKET 1/2 DR 1 12 PT DEEP 1
J445/1652 PUNCH PRICK 5/16 L J5334 SOCKET 1/2DR 1-1/16 12 PT D 1
J471/2X1/4 PUNCH PIN 1/4 ! J5340 SOCKET 1/2 DR 1-1/4 12 PT DE 1
SRS FENE e L J5477A SOCKET 1/2 DR 5/8 12 PT UNIV 1
J473/8X3/16 PUNCH PIN 3/16 1 J5476A SOCKET 1/2 DR 9/16 12 PT UNI 1
el FUNSR F TS L J5475A SOCKET 1/2 DR 1/2 12 PT UNIV 1
J475/16X5/32 PUNCH PIN 5/32 ! J5470A UNIVERSAL JOINT 1/2 DR 1
J477/16X7/32 PUNCH PIN 7/32 1 J5485 HANDLE SLIDING T 1/2 DR 1
J501/2S82 PUNCH STARTING 1/4 1 J818HD WRENCH PIPE 18 1
<UL AUNGE SITARIING S8 L JPO103RF NO1 X 3IN PHILLIPS ROUND BAR 1
J503/852 PUNCH STARTING 3/16 1 JPO108RF NO 1 X 8IN PHILLIPS ROUND BAR 1
G2 FNER ARG Tt L JP02112RF NO2X1.5IN PHILLPS ROUND BAR 1
J507/1682 PUNCH STARTING 7/32 1 JP0204RF NO 2 X 4IN PHILLIPS ROUND BAR 1
SR FENEEGUAILES, L JP0208RF NO2 X 8IN PHILLIPS ROUND BAR 1
J965/1652 PUNCH DRIFT 1/8 1 JP0O408RF NO4 X 8IN PHILLPS ROUND BAR 1
eOC /o2 RULCHIERINC D L JPPO003RF NOO X 3IN PHILLIPS ROUND BAR PRECISION 1
J3700M SET WRENCH IfLARE NUT METRIC 5 1 J5444A SOCKET 1/2 DR DRAG LINK 1
(set breakdown indented below)
J5447 RATCHETOR 1/2 DR 1
J3715M WRENCH FLARE NUT 15 X 17MM 6 1
J5457F 1/2 DR ROUND HEAD FLEX 1
J3713M WRENCH FLARE NUT 13 X 14MM 6 1
J5460 EXTENSION 1/2 DR 2-1/2 1
J3710M WRENCH FLARE NUT 10 X 12MM 6 1
J5461 EXTENSION 1/2 DR 5 1
J3709M WRENCH FLARENUT 9 X 11TMM 6 P 1
J5463 EXTENSION 1/2 DR 10 1
J3707M WRENCH FLARE NUT 7 X 8MM 6 PT 1
J5468 HANDLE HINGE 1/2 DR 18-5/ 1
J3700A SET WRENCH FLARE NUT COMB 7 P 1
(set breakdown indented below) J54411/4 SOCKET HEX BIT 1/2 DR 1/4 1
J3757 WRENCH FLARE NUT COMB 3/4 6 P 1 J54413/8 SOCKET HEX BIT 1/2 DR 3/8 1
J3756 WRENCH FLARE NUT COMB 11/16 6 1 J54415/16 SOCKET HEX BIT 1/2 DR 5/16 1
J3755 WRENCH FLARE NUT COMB 5/8 6 P 1 J54417/16 SOCKET HEX BIT 1/2 DR 7/16 1
J3754 WRENCH FLARE NUT COMB 9/16 6 1 J54411/2 SOCKET HEX BIT 1/2DR 1/2 1




Mfg Part # Description Qty Mfg Part # Description Qty
J54415/8 SOCKET HEX BIT 1/2 DR 5/8 1 J5422S SOCKET 1/2DR 11/16 8 PT 1
J54419/16 SOCKET HEX BIT 1/2 DR 9/16 1 J5424S SOCKET 1/2 DR 3/4 8 PT 1
J54206 SET SOCKET 1/2DR 15 PC 12 P (set 1 J5425 SOCKET 1/2 DR 25/32 12 PT 1
breakdown indented below) J5426S SOCKET 1/2 DR 13/16 8 PT 1
J5410M SOCKET 1/2 DR 10MM 12 PT 1 J5428S SOCKET 1/2 DR 7/8 8 PT 1
JS41M SOCKET1/2DR1TMM 12 PT ! J5429 SOCKET 1/2 DR 29/32 12 PT 1
J5412M SOCKET 1/2 DR 12MM 12 PT 1 J54325 SOCKET 1/2 DR 1 8 PT 1
J5413M SOCKET 1/2 DR 13MM 12 PT ! J292XL PLIERS LOCKING CURVED 10 1
Jo414M SOCKET 1/2 DR 14MM 12 PT L J6014C Torque WRENCH 1/2Dr 50-250 FtLb 1
J5415M SOCKET 1/2 DR 15MM 12 PT 1 JPO306RF NO3 X 6IN PHILLIPS ROUND BAR 1
Js416M SOCKET1/2DR16MM 12 PT ! J49000MCF 16PC 3/8 IN CRWFT MM 9-24MM (set 1
J5417M SOCKET 1/2 DR 17MM 12 PT 1 breakdown indented below)
J5418M SOCKET 1/2 DR 18MM 12 PT 1 J4924MCF Crowfoot WRENCHench Open End 3/8in 1
J5419M SOCKET 1/2 DR 19MM 12 PT 1 J4923MCF Crowfoot WRENCHench Open End 3/8in 1
J5420M SOCKET 1/2 DR 20MM 12 PT 1 J4922MCF Crowfoot WRENCHench Open End 3/8in 1
J5421M SOCKET 1/2DR21TMM 12 PT 1 J492T1MCF Crowfoot WRENCHench Open End 3/8in 1
J5422M SOCKET 1/2 DR 22MM 12 PT 1 J4920MCF Crowfoot WRENCHench Open End 3/8in 1
J5423M SOCKET 1/2 DR 23MM 12 PT 1 J4919MCF Crowfoot WRENCHench Open End 3/8 1
J5424M SOCKET 1/2 DR 24MM 12 PT 1 J4918MCF Crowfoot WRENCHench Open End 3/8in 1
J54113 SET SOCKET 1/2DR 19PC 12PT (set 1 J4917MCF Crowfoot WRENCHench Open End 3/8 1
breakdown indented below) J4916MCF Crowfoot WRENCHench Open End 3/8in | 1
Jo412 SIOEKEL 12 DR T2 L J4915MCF Crowfoot WRENCHench Open End 3/8 1
Jo414 SOCKET1/2DR 7/16 12 PT ! J4914MCF Crowfoot WRENCHench Open End 3/8in 1
Jo416 SOCKET1/2DR1/212 PT L J4913MCF Crowfoot WRENCHench Open End 3/8in 1
J5418 SOCKET 1/2 DR 9/16 12 PT 1 J4912MCF Crowfoot WRENCHench Open End 3/8in 1
J5420 SUC KA 12 DIR G 12 7] L J4911MCF Crowfoot WRENCHench Open End 3/8in 1
J5422 SOCKET1/2DR11/16 12 PT ! J4910MCF Crowfoot WRENCHench Open End 3/8 1
J5424 UG L2 DIRED L 12171 ] ! J4909MCF Crowfoot WRENCHench Open End 3/8in 1
J5426 SOCKET1/2DR13/16 12 PT ! J57-532 28 0Z DEAD BLOW COMBO FACE ORANGE 1
J5428 SOCKET 1/2DR 7/8 12 PT 1 33212 ST TAPE PL 12'1/2" 1
J5430 SOCKET1/2DR15/16 12 PT ! J5320 SOCKET 1/2 DR 5/8 12 PT DEEP 1
J5432 SOCKET1/2DR 112 PT L J5326 SOCKET 1/2DR 13/16 12 PT DE 1
J5434 SOCKET 1/2 DR 1-1/16 12 PT ! J5328 SOCKET 1/2 DR 7/8 12 PT DEEP 1
——— SOCKET 1/2 DR 1-1/8 12 PT L J5330 SOCKET 1/2 DR 15/16 12 PT DE 1
5438 SOCKET 1/2DR 1-3/16 12 PT ! J5480AG HANDLE SPEEDER 1/2 DR 1
J5440 SOCKET1/2 DR 1-1/412 PT ! J9500B SET SCREW EXTRACTOR 10 PC (set 1
J5442 SOCKET 1/2 DR 1-5/16 12 PT 1 breakdown indented below)
J5444 SOCKET 1/2 DR 1-3/8 12 PT 1 J9521 SCREW EXTRACTOR 1/8 1
J5446 SOCKET 1/2DR 1-7/16 12 PT 1 J9522 SCREW EXTRACTOR 3/16 1
J5448 SOCKET 1/2 DR 1-1/2 12 PT 1 J9523 SCREW EXTRACTOR 15/64 1
J5412S SOCKET 1/2 DR 3/8 8 PT 1 J9524 SCREW EXTRACTOR 5/16 1
J5414S SOCKET 1/2DR 7/16 8 PT 1 J9525 SCREW EXTRACTOR 3/8 1
J5416S SOCKET 1/2DR 1/2 8 PT 1 J9525B SCREW EXTRACTOR 15/32 1
J5418S SOCKET 1/2DR9/16 8 PT 1 J9526 SCREW EXTRACTOR 9/16 1
J5419 SOCKET 1/2DR19/3212 PT 1 J9527 SCREW EXTRACTOR 21/32 1
J5420S SOCKET 1/2 DR 5/8 8 PT 1 J9528 SCREW EXTRACTOR 13/16 1




Mfg Part # Description Qty Mfg Part # Description Qty
J9529 SCREW EXTRACTOR 1-1/16 1 J5321M SOCKET 1/2 DR 21MM 12 PT DEE 1
J225G PLIER NEEDLE NOSE CURVE W 1 J5320M SOCKET 1/2 DR 20MM 12 PT DEE 1
J49004CF 9PC 3/8 IN CROWFOOT 3/8 -7/8 (set 1 J5319M SOCKET 1/2 DR 19MM 12 PT DEE 1
breakdown indented below) J5318M SOCKET 1/2 DR 18MM 12 PT DEE 1
el GRS 012 L J5317M SOCKET 1/2 DR 17MM 12 PT DEE 1
J4928CF CROWFOOT 3/8 DR 7/8 OF ! J5316M SOCKET 1/2 DR 16MM 12 PT DEE 1
J4926CF CROUAOT S PRSI0 B L J5315M SOCKET 1/2 DR 15MM 12 PT DEE 1
J4924CF CROWFOOT 3/8 DR 3/4 OF ! J5314M SOCKET 1/2 DR 14MM 12 PT DEE 1
PR CROWFOOT 3/8 DR 11/16 OF L J5313M SOCKET 1/2 DR 13MM 12 PT DEE 1
J4920CF CROWFOOT 3/8 DR 5/8 OF ! J5312M SOCKET 1/2 DR 12MM 12 PT DEE 1
SARlEe CROAUIRE B RIREAD OIS L J5311M SOCKET 1/2 DR 11MM 12 PT DEE 1
J4914CF CROWFOOT 3/8 DR 7/16 OF 1 J5310M SOCKET 1/2 DR 10MM 12 PT DEE 1
sl GRULRCIFEHI N2 L J303S SNIP AVIATION STRAIGHT 1
J4780AG HANDLE SPEEDER 1/4 DR 1 1308 SNIP MINIATURE 1
J3800A SET WRENCH FLARE NUT RATCHET (set| 1 1322 SNIP STRAIGHT 12-3/4 1
breakdown indented below)
J9853 SCREW STARTER STD TIP 5-5 1
J3824 WRENCH FLARE NUT RATCH 3/4 12 1
28-240 11/4 FLEX PUTTY KNIF 1
J3822 WRENCH FLARE NUT RATCH 11/16 1
J57-534 56 OZ DEAD BLOW COMBO FACE OR-Semi Fin 1
J3820 WRENCH FLARE NUT RATCH 5/8 12 1
J1725 WRENCH OBSTRUCTION 7/16 X 1/2 1
J3818 WRENCH FLARE NUT RATCH 9/16 1 1
J1730 WRENCH OBSTRUCTION 9/16 X 5/8 1
J3816 WRENCH FLARE NUT RATCH 1/2 12 1
J2343 1-1/2" CARBON SCRAPPER 1
J3814 WRENCH FLARE NUT RATCH 7/16 1 1
J5336 SOCKET 1/2 DR 1-1/8 12 PT DE 1
J3812 WRENCH FLARE NUT RATCH 3/8 12 1
Jogs4 SCREW STARTER PHILLIPS 5- 1
J3300A SET WRENCH ANGLE SHORT 9 PC (set 1
breakdown indented below) J8o1 WRENCH CHAIN 1
J3314 WRENCH ANGLE 7/32 1 J715B WRENCH ADJUSTABLE 15 1
J3315 WRENCH ANGLE 15/64 1 J5685 HANDLE SLIDING T 3/4 DR 1
J3316 WRENCH ANGLE 1/4 1 J5670 UNIVERSAL JOINT 3/4 DR 1
J3318 WRENCH ANGLE 9/32 1 J5668 HANDLE HINGE 3/4 DR 20 1
J3320 WRENCH ANGLE 5/16 1 J5663 EXTENSION 3/4 DR 16 1
J3322 WRENCH ANGLE 11/32 1 J5661 EXTENSION 3/4 DR 8 1
J3324 WRENCH ANGLE 3/8 1 J5660 EXTENSION 3/4 DR 4 1
J3328 WRENCH ANGLE 7/16 1 J5649 RATCHET 3/4 DR 1
J3332 WRENCH ANGLE 1/2 1 J5576 SOCKET 3/4 DR 2-3/8 12 PT 1
J1332AVP 320Z BALL PEEN HAMMER 1 J5572 SOCKET 3/4 DR 2-1/412 PT 1
J5446A SOCKET 1/2 DR DRAG LINK 1 J5570 SOCKET 3/4 DR 2-3/16 12 PT 1
J360A SET PLIER RETAINING RING 1 J5568 SOCKET 3/4 DR 2-1/8 12 PT 1
J235 PLIER IGNITION W/GRIP 1 J5564 SOCKET 3/4DR 212 PT 1
J262SGXL 7" GROOVE JOINT 1 J5560 SOCKET 3/4DR 1-7/8 12 PT 1
J260SGXL 10"GROOVE JOINT 1 J5558 SOCKET 3/4 DR 1-13/16 12 PT 1
J265SGXL 16" GROOVE JOINT 1 J5556 SOCKET 3/4 DR 1-3/412 PT 1
J286LNXL PLIER LOCKING LONG NOSE 6 1 J5554 SOCKET 3/4DR 1-11/16 12 PT 1
J54207 SET SOCKET 1/2DR 15PC 12PT M (set 1 J5552 SOCKET 3/4 DR 1-5/8 12 PT 1
breakdown indented below) J5550 SOCKET 3/4 DR 1-9/16 12 PT 1
J5324M SOCKET 1/2 DR 24MM 12 PT DEEP 1 J5548 SOCKET 3/4 DR 1-1/2 12 PT 1
J5323M SOCKET 1/2DR 23MM 12PT METDE 1 J5546 SOCKET 3/4 DR 1-7/16 12 PT 1
J5322M SOCKET 1/2 DR 22MM 12 PT DEE 1




Mfg Part # Description Qty Mfg Part # Description Qty
J5544 SOCKET 3/4 DR 1-3/8 12 PT 1 J5356FL CROWFOOT 12 PT 1/2 DR 1-3/4 1
J5542 SOCKET 3/4 DR 1-5/16 12 PT 1 J5358FL WRENCH crowfoot 1/2 dr 1-13/1 1
J5540 SOCKET 3/4DR 1-1/4 12 PT 1 J5360FL WRENCH crowfoot 1/2 dr 1 7/8 1
J5538 SOCKET 3/4 DR 1-3/16 12 PT 1 26376 TAP + DIE 76PC SET COMBO HEX 1
J5536 SOCKET 3/4 DR 1-1/8 12 PT 1 JHANDIM 13PC IMPACT HAND DRIVER (set break- 1
J5534 SOCKET 3/4 DR 1-1/16 12 PT 1 down indented below)
5532 SOCKET 3/4 DR 112 PT ] J60002 BIT INSERT 1 PHIL 1/4HEX 1
o S ARG 125D ] J60008 BIT INSERT 2 PHIL 1/4HEX 1
5508 SOCKET 3/4 DR 7/8 12 PT ] J60020 BIT INSERT 3 PHIL 1/4HEX 1
J2381 STD COTTER-PIN PULLER PICK 1 J60050 IR R Al A L
J1270A SET WRENCH COMB FLEX 7 PC 12 (set 1 J60052 BIT INSERT 2 PHIL 5/16HEX !
breakdown indented below) J60054 BIT INSERT 3 PHIL 5/16HEX 1
J1270-24A WRENCH COMB FLEX 3/4IN 12PT 1 J60202 BIT INSERT SLOT 1/4HEX 25 1
J1270-22A WRENCH COMB FLEX 11/16IN 12PT 1 J60208 BIT INSERT SLOT 1/4HEX 25 1
J1270-20A WRENCH COMB FLEX 5/8IN 12PT 1 J60256 BIT INSERT SLOT 5/16 HE 1
J1270-18A WRENCH COMB FLEX 9/16IN 12PT 1 J60262 BIT INSERT SLOT 5/16 HE 1
J1270-16A WRENCH COMB FLEX 1/2IN 12PT 1 J6930 BIT HOLDER PWRENCH 3/8 DR 5/16 1
J1270-14A WRENCH COMB FLEX 7/16IN 12PT 1 J6931 BIT HOLDER PWRENCH 3/8 DR 1/4 1
J1270-12A WRENCH COMB FLEX 3/8IN 12PT 1 J7099 DRIVER HAND IMP 3/8 DR 1
J1731 WRENCH OBSTRUCTION 5/8 X 3/4 1 J69X00 SET 10PC XTR 1/4-5/8 & 7-16 1
J2100 SET PRY + ROLLING HEAD BA (set 1 28-540 1-1/4IN FLEX PUTTY KNIFE 1
breakdown indented below) J3100M SET WRENCH ANGLE 11 PC METRIC 1
J2120 BAR PRY ALIGNING 18 1 (set breakdown indented below)
J2124 BAR PRY ALIGNING 24 1 J3119M WRENCH ANGLE 19MM 1
J2126 BAR 12IN LONG 1/2IN TIP 1 J3118M WRENCH ANGLE 18 MM 1
J2130 BAR 16IN LONG 5/8 IN TIP 1 J3117M WRENCH ANGLE 17MM 1
J1200EFS 8PC SHORT COMBO 6PT WRENCH SET 1 J3116M WRENCH ANGLE 16MM 1
(set breakdown indented below) J3115M WRENCH ANGLE 15MM 1
J1204EFS 1/8 WRENCH COMB SHORT 6PT 1 J3114M WRENCH ANGLE 14MM ]
J1205EFS 5/32 WRENCH COMB SHORT 6PT 1 13113M WRENCH ANGLE 13MM ]
J1206EFS 3/16 WRENCH COMB SHORT 6PT 1 131190 WRENCH ANGLE 12MM ]
J1208EFS 1/4 WRENCH COMB SHORT 6PT 1 13111M WRENCH ANGLE 11MM ]
J1209EFS 9/32 WRENCH COMB SHORT 6PT 1 e T T— ]
J1210EFS 5/16 WRENCH COMB SHORT 6PT 1 J3100M WRENCH ANGLE SMM ]
J1211EFS 11/32 WRENCH COMB SHORT 6PT 1 SET WRENCH ANGLE 14 PC (set break-
J1212EFS 3/8 WRENCH COMB SHORT 6PT 1 J3100B down indented below) 1
J5336FL WRENCH CROWFOOT 1/2" DR 1 1/8 1 J3140 WRENCH ANGLE 1-1/4 1
J5338FL WRENCH crowfoot 1/2 dr 1 3/16 1 J3136 WRENCH ANGLE 1-1/8 1
J5340FL WRENCH crowfoot 1/2 dr 1-1/4 1 J3134 WRENCH ANGLE 1-1/16 1
J5342FL WRENCH crowfoot 1/2 dr 1-5/16 1 J3132 WRENCH ANGLE 1 1
J5344FL WRENCH crowfoot 1/2 dr 1-3/8 1 J3130 WRENCH ANGLE 15/16 1
J5346FL WRENCH crowfoot 1/2 dr 1-7/16 1 J3128 WRENCH ANGLE 7/8 1
J5348FL CROWFOOT 12 PT 1/2 DR 1-1/2 1 J3126 WRENCH ANGLE 13/16 1
J5350FL CROWFOOT 12 PT 1/2 DR 1-9/16 1 J3124 WRENCH ANGLE 3/4 1
J5352FL WRENCH crowfoot 1/2 dr 1-5/8 1 J3122 WRENCH ANGLE 11/16 1
J5354FL WRENCH crowfoot 1/2 dr 1-11/16 1 J3120 WRENCH ANGLE 5/8 1




Mfg Part # Description Qty Mfg Part # Description Qty
J3118 WRENCH ANGLE 9/16 1 J4778TA SOCKET 1/4 DR 11/32 12PT UNI 1
J3116 WRENCH ANGLE 1/2 1 J4040 SET PULLER STEP PLATE (set break- 1
J3114 WRENCH ANGLE 7/16 1 down indented below)

8112 WRENCH ANGLE 3/8 ] J4040-1 PULLER STEP PLATE 3/4 1

J52100 SET SOCKET 3/8 DR 7 PC 6 PT (set 1 4404010 PULLER STEP PLATE 1-7/8 !

breakdown indented below) J4040-11 PULLER STEP PLATE 2 1
J5279HA 3/8in Dr. 6 Point, 3/4in 1 J4040-2 PULLER STEP PLATE 7/8 1
J5278HA 3/8in Dr. 6 Point, 11/16in 1 J4040-3 PULLER STEP PLATE 1 1
J5277HA 3/8 Dr. 6 Point, 5/8 1 J4040-4 PULLER STEP PLATE 1-1/8 1
J5276HA 3/8 Dr. 6 Point, 9/16 1 J4040-5 PULLER STEP PLATE 1-1/4 1
J5275HA 3/8 Dr. 6 Point, 1/2 1 J4040-6 PULLER STEP PLATE 1-3/8 1
J5274HA 3/8 Dr. 6 Point, 7/16 1 J4040-7 PULLER STEP PLATE 1-1/2 1
J5273HA 3/8 Dr. 6 Point, 3/8 1 J4040-8 PULLER STEP PLATE 1-5/8 1
J52201 SET SOCKET 3/8 DR 10PC 6PT M (set 1 J4040-9 PULLER STEP PLATE 1-3/4 1
breakdown indented below) J4331 SET PULLER BEARING SEPARA (set 1

J5273HAM 3/8in Dr. 6 Point, 10mm 1 breakdown indented below)
J5274HAM 3/8in Dr. 6 Point, T1mm 1 J4331N PULLER NUT HEX 2
J5275HAM 3/8 Dr. 6 Point, 12mm 1 J4331P PULLER SEPARATOR PLATE 2
J5276HAM 3/8in Dr. 6 Point, 13mm 1 J4331R PULLER SCREW CAP 2
J5277THAM 3/8 Dr. 6 Point, 14mm 1 J4333A SET PULLER BEARING SEPARA (set 1

J5278HAM 3/8in Dr. 6 Point, 15mm 1 breakdown indented below)
JS275HAM 3/8in Dr. 6 Point, 16mm ; J4333AR PULLER ROD THREADER 3/4-1 2
J5280HAM SOCKET 3/8 DR 17MM 6 PT UNIV 1 J4333P PULLER SEPARATOR PLATE 2
J528THAM 3/8in Dr. 6 Point, 18mm 1 J4333N PULLER NUT HEX 4
J5282HAM 3/8in Dr. 6 Point, 19mm 1 J1212MNDS 12PC METRIC HOLLOW NUT DR (set 1

breakdown indented below)

472106 brsei-"-(:gv?:ﬂ:::; 3/:3;:)5"0 SR 1 JNO404RMS 4MM X 4IN MM NUTDRIVER 1
. SOCKET IMP 3/8 DR 1/4 6 PT ] JNO504RMS 5MM X 4IN MM NUTDRIVER 1
J7209H SOCKET IMP 3/8 DR 9/32 6PT 1 JNOGO4RMS 6MM X 4IN MM NUTDRIVER L
J7210H SOCKET IMP 3/8 DR 5/16 6 PT 1 JNO704RMS /MM X 4IN MM NUTDRIVER !
J7211H SOCKET IMP 3/8 DR 11/32 6 PT 1 JNOBO4RMS 8MM X 4IN MM NUTDRIVER !
219 SOCKET IMP 3/8 DR 3/8 6 PT ] JNO904RMS 9MM X 4IN MM NUTDRIVER 1
a4 SOCKET IMP 3/8 DR 7/16 6 PT ; JN1004RMS 10MM X 4IN MM NUTDRIVER 1
—— SOCKET IMP 3/8 DR 1/2 6 PT ] JNT104RMS 11MM X 4IN MM NUTDRIVER 1
JrmeH SOGKET IMP 3/8 DR 9/16 6 PT ; JN1204RMS 12MM X 4IN MM NUTDRIVER 1
7220k SOCKET IMP 3/8 DR 5/8 6 PT ] JN1304RMS 13MM X 4IN MM NUTDRIVER 1
J7222H SOCKET IMP 3/8 DR 11/16 6 PT 1 JIN1404RMS LRSI 1
. SOCKET IMP 3/8 DR 3/4 6 PT . JN5504RMS 5.5MM X 4IN MM NUTDRIVER 1
J7226H SOCKET IMP 3/8 DR 13/16 6 PT 1 J330 TUBING CUTTER !
J7228H SOCKET IMP 3/8 DR 7/8 6 PT 1 351 TUBING FLARING TOOL !
J7230H SOCKET IMP 3/8 DR 15/16 6 PT 1 J61906 SET BIT INSERT 38PC !
J7232H SOCKET IMP 3/8 DR 16 PT 1 66-039 ST JEWELERS SET !

JA770TA 1/4in Dr. 12 Point, 7/32in 1 J07500-10 SET SOCKFT IMP 3/4 DR 10 PC (set 1

breakdown indented below)

JA775TA 1/4Dr. 12 Point, 172 ! J07521 SOCKET IMP 3/4 DR 1-5/16 6 P 1

JA776TA SOCKET 1/4 DR 9/16 12 PT UNI 1 07520 SOCKET VP 3/4 DR 11/4 6 BT 1

JATTTTA 1/4in Dr. 12 Point, 9/32in 1 07510 SOCKET IMP 3/4 DR 13/16 6 P 1




Mfg Part # Description Qty Mfg Part # Description Qty
J07518 SOCKET IMP 3/4 DR 1-1/8 6 PT 1 J4040-10 PULLER STEP PLATE 1-7/8 1
J07517 SOCKET IMP 3/4 DR 1-1/16 6 P 1 J4040-11 PULLER STEP PLATE 2 1
J07516 SOCKET IMP 3/4 DR 16 PT 1 J4040-2 PULLER STEP PLATE 7/8 1
J07515 SOCKET IMP 3/4 DR 15/16 6 PT 1 J4040-3 PULLER STEP PLATE 1 1
J07514 SOCKET IMP 3/4 DR 7/8 6 PT 1 J4040-4 PULLER STEP PLATE 1-1/8 1
J07513 SOCKET IMP 3/4 DR 13/16 6 PT 1 J4040-5 PULLER STEP PLATE 1-1/4 1
J07512 SOCKET IMP 3/4 DR 3/4 6 PT 1 J4040-6 PULLER STEP PLATE 1-3/8 1

J2142 BAR PRY ALIGNING 18 IN W/ 1 J4040-7 PULLER STEP PLATE 1-1/2 1

J2146 BAR PRY ALIGNING 28 IN W/ 1 J4040-8 PULLER STEP PLATE 1-5/8 1

J2302 FILE IGNITION POINT 1 J4040-9 PULLER STEP PLATE 1-3/4 1

J2342 1” CARBON SCRAPER 1 J4040-12 PULLER STEP PLATE 2-1/8 1

J235 PLIER IGNITION W/GRIP 1 J4040-13 PULLER STEP PLATE 2-1/4 1

J252G PLIER HOSE CLAMP W/GRIP 1 J4040-14 PULLER STEP PLATE 2-3/8 1

J307 SNIP DUCKBILL 7 1 J4055H PULLER SLIDE HAMMER 5LB 1

J3200C SET WRENCH IGNITION 13 PC (set 1 J4056-2 PULLER JAW INSIDE 2 REACH 3

e cepnincentechelos) J4056-4 PULLER JAW REVERSIBLE 4 R 3
J000D SET FEELER GA 10 BLADE 16 ! J4056-6 PULLER JAW REVERSIBLE 6 R 3
J2302 FILE IGNITION POINT 1 rosern CULLER PIN PIVOT .
J235 PLIER IGNITION W/GRIP ! J42058 PULLER SLOTTED CROSS ARM 1
J3210 WRENCH ANGLE 13/64 X 15/64 SH 1 205 O ULLER SCREW CAP X
J3211 WRENCH ANGLE 15/64 X 13/64 SH 1 0o CULLER SCREW FORCING AGME ]
J3215 WRENCH ANGLE 7/32 X 1/4 SHORT 1 20650 ULLER SLOTTED CROSSARM ]
J3216 WRENCH ANGLE 1/4 X 7/32 SHORT 1 208Ch ULLER CROSSARM 6 TON 2WA ]
J3220 WRENCH ANGLE 9/32 X 5/16 SHOR 1 J4211BA o N e LT 3
J3221 WRENCH ANGLE 5/16 X 9/32 SHOR 1 breakdown indented below)
J3225 WRENCH ANGLE 11/32 X 3/8 SHOR 1 J4056PN PULLER PIN PIVOT 1
J3226 WRENCH ANGLE 3/8 X 11/32 SHOR 1 J4209JB PULLER 6 TON JAW BLOCK 1
66-101-A 100+ SCDR 2IN PCKT 1/8IN 1 J4209LS PULLER JAW BLOCK LOCK SCR 3
J9853 SCREW STARTER STD TIP 5-5 1 J4210RJ PULLER 6 TON JAW REVERS 1
J334 SNIP COMBINATION 14 1 J42258 PULLER SCREW FORCING ACME 1
J4235A SET PULLER MASTER (set breakdown 1 J4226CA PULLER CROSSARM 2 WAY 1
indented below) J4227CA PULLER CROSSARM 3 WAY 1
J4005C PULLER CAP SCREW 3 J4231A SET PULLER 10 TON JAW + B (set 3
J4011S PULLER SPRING CLIP 3 breakdown indented below)
J4012T PULLER TIP DETACHABLE STA 1 J4056PN PULLER PIN PIVOT 1
J4016A PULLER JAW 10 TON DUAL-RE 3 J4229B PULLER 10 TON JAW BLOCK 1
J4017 PULLER JAW 10 TON NARROW 3 Ja229LS PULLER JAW BLOCK SCREW LO 3
J4018 PULLER JAW 10 TON CAP SCR 3 J4230RJ PULLER JAW 10 TON REV 1
J4021s PULLER SPRING CLIP 3 J42508 PULLER YOKE 2 WAY ACME TH 1
J40227 PULLER TIP DETACHABLE STA 1 J4250N PULLER NUT ADJ REVERSIBLE 1
J4026A PULLER JAW 6 TON 3 J42558 PULLER YOKE 3 WAY JAW ACM 1
J4027 PULLER JAW 6 TON NARROW 3 J4256S PULLER JAW INSIDE HOOK 1
J4028 PULLER CAP SCREW 3 J4260H PULLER SLIDE HAMMER 2-1/2 1
J4040 SET PULLER STEP PLATE (set break- 1 J4260R PULLER HANDLE T-ROD ACME 1
down indented below) JA275R PULLER ROD SLIDE ACME THR 1
JA040-1 PULLER STEP PLATE 3/4 1

J42778B

PULLER REAR AXLE FLANGE F




Mfg Part # Description Qty Mfg Part # Description Qty
J4280 SET PULLER BLIND BEARING (set 1 J7330H SOCKET IMP 1/2 DR 15/16 6 PT 1
breakdown indented below) J7328H SOCKET IMP 1/2 DR 7/8 6 PT D 1
il PULLER BLIND BEARING COLL L J7326H SOCKET IMP 1/2 DR 13/16 6 PT 1
J4280S PULLER BLIND BEARING SCRE 1 e e L SR :
J4331 SET PULLER BEARING SEPARA (set 1 J7329H SOCKET IMP 1/2 DR 11/16 6 PT ]
breakdown indented below)
J7320H SOCKET IMP 1/2 DR 5/8 6 PT D 1
J4331N PULLER NUT HEX 2
J7318H SOCKET IMP 1/2 DR 9/16 6 PT 1
J4331P PULLER SEPARATOR PLATE 2
J7316H SOCKET IMP 1/2 DR 1/2 6 PTD 1
J4331R PULLER SCREW CAP 2
J7314H SOCKET IMP 1/2 DR 7/16 6 PT 1
J4333A SET PULLER BEARING SEPARA (set 1
breakdown indented below) J7312H SOCKET IMP 1/2DR 3/8 6 PTD 1
J4333AR PULLER ROD THREADER 3/4-1 2 J74204 SET SOCKET IMP 1/2DR 15PC ME (set 1
breakdown indented below)
J4333P PULLER SEPARATOR PLATE 2
J7424M SOCKET IMP 1/2 DR 24MM 6 PT 1
J4333N PULLER NUT HEX 4
J7423M SOCKET IMP 1/2 DR 23MM 6 PT 1
JT-146P1 PULLER SAFETY CATALOG 1
J7422M SOCKET IMP 1/2 DR 22MM 6 PT 1
144A CARTON SHIPPING 1
J7421M SOCKET IMP 1/2 DR 21MM 6 PT 1
J9969R 26 BOX EXTRA HEAVY W/TRAY 1
J7420M SOCKET IMP 1/2 DR 20MM 6 PT 1
J7180P EXTENSION IMP 1/2 DR 2 1
J7419M SOCKET IMP 1/2 DR 19MM 6 PT 1
J7181P EXTENSION IMP 1/2 DR 5 1
J7418M SOCKET IMP 1/2 DR 18MM 6 PT 1
J74214 SET SOCKET IMP 1/2DR 15PC ME (set 1
breakdown indented below) J7417M SOCKET IMP 1/2 DR 17MM 6 PT 1
J7310M SOCKET IMP 1/2 DR 10MM 6 PT 1 J7416M SOCKET IMP 1/2 DR 16MM 6 PT 1
J7311M SOCKET IMP 1/2 DR 11MM 6 PT 1 J7415M SOCKET IMP 1/2 DR 15MM 6 PT 1
J7312M SOCKET IMP 1/2 DR 12MM 6 PT 1 J7414M SOCKET IMP 1/2 DR 14MM 6 PT 1
J7313M SOCKET IMP 1/2 DR 13MM 6 PT 1 J7413M SOCKET IMP 1/2 DR 13MM 6 PT 1
J7314M SOCKET IMP 1/2 DR 14MM 6 PT 1 J7412M SOCKET IMP 1/2 DR 12MM 6 PT 1
J7315M SOCKET IMP 1/2 DR 15MM 6 PT 1 J7411M SOCKET IMP 1/2 DR 11MM 6 PT 1
J7316M SOCKET IMP 1/2 DR 16MM 6 PT 1 J7410M SOCKET IMP 1/2 DR 10MM 6 PT 1
J7317M SOCKET IMP 1/2 DR 17MM 6 PT 1 J74104 SET SOCKET IMP 1/2DR 15PC (set 1
breakdown indented below)
J7318M SOCKET IMP 1/2 DR 18MM 6 PT 1
J7412H SOCKET IMP 1/2 DR 3/8 6 PT 1
J7319M SOCKET IMP 1/2 DR 19MM 6 PT 1
J7414H SOCKET IMP 1/2 DR 7/16 6 PT 1
J7320M SOCKET IMP 1/2 DR 20MM 6 PT 1
J7416H SOCKET IMP 1/2 DR 1/2 6 PT 1
J7321M SOCKET IMP 1/2 DR 21MM 6 PT 1
J7418H SOCKET IMP 1/2 DR 9/16 6 PT 1
J7322M SOCKET IMP 1/2 DR 22MM 6 PT 1
J7420H SOCKET IMP 1/2 DR 5/8 6 PT 1
J7323M SOCKET IMP 1/2 DR 23MM 6 PT 1
J7422H SOCKET IMP 1/2DR 11/16 6 PT 1
J7324M SOCKET IMP 1/2 DR 24MM 6 PT 1
J7424H SOCKET IMP 1/2 DR 3/4 6 PT 1
J74116 SET SOCKET IMP 1/2DR 19PC DE (set 1
breakdown indented below) J7426H SOCKET IMP 1/2 DR 13/16 6PT 1
J7348H SOCKET IMP 1/2 DR 1-1/2 6 PT 1 J7428H SOCKET IMP 1/2 DR 7/8 6 PT 1
J7346H SOCKET IMP 1/2 DR 1-7/16 6 P 1 J7430H SOCKET IMP 1/2 DR 15/16 6 PT 1
J7344H SOCKET IMP 1/2 DR 1-3/8 6 PT 1 J7432H SOCKET IMP 1/2DR 1 6 PT 1
J7342H SOCKET IMP 1/2 DR 1-5/16 6 P 1 J7434H SOCKET IMP 1/2DR 1-1/16 6 P 1
J7340H SOCKET IMP 1/2 DR 1-1/4 6 PT 1 J7436H SOCKET IMP 1/2 DR 1-1/8 6 PT 1
J7338H SOCKET IMP 1/2 DR 1-3/16 6 P 1 J7438H SOCKET IMP 1/2 DR 1-3/16 6 P 1
J7336H SOCKET IMP 1/2 DR 1-1/8 6 PT 1 J7440H SOCKET IMP 1/2 DR 1-1/4 6 PT 1
J7334H SOCKET IMP 1/2DR 1-1/16 6 P 1
J7332H SOCKET IMP 1/2 DR 1 6 PT DEE 1




Mfg Part # Description Qty Mfg Part # Description Qty
J74152 SET SOCKET IMP 1/2DR 7PC HEX (set 1 J2380 STD 45 DEGREE HOOK PICK 1
breakdown indented below) J2382 STD 90 DEGREE HOOK PICK 1
J74411/2 SOCKET IMP HEX BIT 1/2 DR 1/ 1 12383 STD CURVED HOOK (C-HOOK) PICK 1
J74415/8 SOCKET IMP HEX BIT 1/2 DR 5/ 1 JO00AA SET FEELER GAUGE 25 BLADE 1
Jraarone SOCKETIMP HEXBIT1/2 DR 9/ ! J54101 Set SOCKET 1/2Dr 19Pc 6Pt Dp (set 1
J74413/8 SOCKET IMP HEX BIT 1/2 DR 3/ 1 breakdown indented below)
J74417/16 SOCKET IMP HEX BIT 1/2 DR 7/ 1 J5312H SOCKET 1/2DR 3/8 6PT DEEP 1
J74415/16 SOCKET IMP HEX BIT 1/2 DR 5/ 1 J5314H SOCKET 1/2DR 7/16 6PT DEEP 1
J74411/4 SOCKET IMP HEX BIT 1/2DR 1/ 1 J5316H SOCKET 1/2 DR 1/2 6 PT DEEP 1
J9320 SET SCRWDR MAGNETIC RATCHET 1 J5318H SOCKET 1/2 DR9/16 6 PT DEEP 1
66-101-A 100+ SCDR 2IN PCKT 1/8IN 1 J5320H SOCKET 1/2 DR 5/8 6 PT DEEP 1
10-189C ST KNF CARDED SAFETY 1 J5322H SOCKET 1/2 DR 11/16 6 PT DEE 1
J5460W EXTENSION WOBBLE 1/2 DR 2 1 J5324H SOCKET 1/2 DR 3/4 6 PT DEEP 1
J4760W EXTENSION WOBBLE 1/4 DR 3 1 J5326H SOCKET 1/2 DR 13/16 6 PT DEE 1
J4761L EXTENSION 1/4DR 6 LOCKING 1 J5328H SOCKET 1/2DR 7/8 6 PT DEEP 1
J5260-06L EXTENSION 3/8DR 6 LOCKING 1 J5330H SOCKET 1/2 DR 15/16 6 PT DEE 1
J5261W EXTENSION WOBBLE 3/8 DR 8 1 J5332H SOCKET 1/2DR 1 6 PT DEEP 1
J5463L EXTENSION 1/2DR 10 LOCKIN 1 J5334H SOCKET 1/2 DR 1-1/16 6 PT DE 1
55-515 ST PRYB 13" WNDRBAR 1 J5336H SOCKET 1/2 DR 1-1/8 6 PT DEE 1
42-465 ST LEVL 9" TORPEDO 1 J5338H SOCKET 1/2DR 1 3/16 6PT DEEP 1
J2371 MIRROR INSPECT OVAL 1 X 2 1 J5340H SOCKET 1/2 DR 1-1/4 6 PT DEE 1
JSF150 HAMMER SOFTFACE WITHOUT T 1 J5342H SOCKET 1/2 DR 1-5/16 6 PT DE 1
JSF15SS HAMMER TIP 1-1/2 SUPER SO 1 J5344H SOCKET 1/2 DR 1-3/8 6 PT DEE 1
JSF15S HAMMER TIP 1-1/2 SOFT 1 J5346H SOCKET 1/2 DR 1-7/16 6 PT DE 1
JSF15M HAMMER TIP 1-1/2 MEDIUM 1 J5348H SOCKET 1/2 DR 1-1/2 6 PT DEE 1
JSF15T HAMMER TIP 1-1/2 TOUGH 1 J74117 15 Pc Set 1/2 Dr SAE Deep Thin (set 1
JSF15MH HAMMER TIP 1-1/2 MEDIUM H 1 preakdowniindented below)
JSF15H HAMMER TIP 1-1/2 HARD 1 J7312HT 1/2 DR Deep Thin Wall Impact 3 1
JSF15XH HAMMER TIP 2 MEDIUM 1 J7314HT 1/2 DR Deep Thin Wall Impact 7 1
J5330CF CROWEQOT 1/2 DR 15/16 OE 1 J7316HT 1/2 DR Deep Thin Wall Impact 1 1
J5332CF CROWEOOT 1/2 DR 1 OE 1 J7318HT 1/2 DR Deep Thin Wall Impact 9 1
J5334CF CROWFOOT 1/2 DR 1-1/16 OE 1 J7320HT 1/2 DR Deep Thin Wall Impact 5 1
J5336CF CROWFOOT 1/2 DR 1-1/8 OF 1 J7322HT 1/2 DR Deep Thin Wall Impact 1 1
J5338CF CROWFOOT 1/2 DR 1-3/16 OE 1 J7324HT 1/2 DR Deep Thin Wall Impact 3 1
J5340CF CROWFOOT 1/2 DR 1-1/4 OF 1 J7326HT 1/2 DR DEEP THIN WALL IMPACT 1 1
J5342CF CROWFOOT 1/2 DR 1-5/16 OE 1 J7328HT 1/2 DR Deep Thin Wall Impact 7 1
J5344CF CROWFOOT 1/2 DR 1-3/8 OF 1 J7330HT 1/2 DR Deep Thin Wall Impact 1 1
J5346CF CROWEQOT 1/2 DR 1-7/16 OE 1 J7332HT 1/2 DR Deep Thin Wall Impact 1 1
J5348CF CROWEOQOT 1/2 DR 1-1/2 OE 1 J7334HT 1/2 DR Deep Thin Wall Impact 1 1
J5350CF CROWEOQOT 1/2 DR 1-9/16 OE 1 J7336HT 1/2 DR Deep Thin Wall Impact 1 1
J5352CF CROWEOOT 1/2 DR 1-5/8 OF 1 J7338HT 1/2 DR Deep Thin Wall Impact 1 1
J5354CF CROWFOOT 1/2 DR 1-11/16 OE 1 J7340HT 1/2 DR Deep Thin Wall Impact 1 1
J5356CF CROWFOOT 1/2 DR 1-3/4 OF 1 J74217 15 Pc Set :I/2 Dr mm Deep Thin (set 1
breakdown indented below)
J5358CF CROWFOOT 1/2DR 1113/16 OF ! J7310MHT 1/2 DR Deep Thin Wall Impact 1 1
J5360CF CROWFOOT 1/2 DR 177/8 OF ! J7311MHT 1/2 DR Deep Thin Wall Impact 1 1

J404A

4IN REGULAR DUTY C-CLAMP




Mfg Part # Description Qty Mfg Part # Description Qty
J7312MHT 1/2 DR Deep Thin Wall Impact 1 1 J52114 SET SOCKET 3/8 DR 13 PC 6 PT (set 1
J7313MHT 1/2 DR Deep Thin Wall Impact 1 1 preakdown indented below)

J7314MHT 1/2 DR Deep Thin Wall Impact 1 1 J5032H SOCKET 3/8 DR 1 6 PT DEEP 1
J7315MHT 1/2 DR Deep Thin Wall Impact 1 1 J5030H S0 GO IADOE 2 2 L
J7316MHT 1/2 DR Deep Thin Wall Impact 1 1 J5028H SOCKET 3/8 DR 7/8 6 PT DEEP 1
J7317MHT 1/2 DR Deep Thin Wall Impact 1 1 J5026H SOCKET 3/8 DR113/16 6 PT DEE L
J7318MHT 1/2 DR Deep Thin Wall Impact 1 1 J5024H SOCKET 3/8 DR 3/4 6 PT DEEP 1
J7319MHT 1/2 DR Deep Thin Wall Impact 1 1 J5022H UGG PR TG Py Pl L
J7320MHT 1/2 DR Deep Thin Wall Impact 2 1 J5020H SOCKET 3/8 DR 5/8 6 PT DEEP 1
J7321MHT 1/2 DR Deep Thin Wall Impact 2 1 J5018H SO ST RIS ID O PRI Ea2E L
J7322MHT 1/2 DR Deep Thin Wall Impact 2 1 J5016H SOCKET 3/8 DR 1/2 6 PT DEEP 1
J7323MHT 1/2 DR Deep Thin Wall Impact 2 1 J5014H SO0 EUSUIIS ZAID O FI R L
J7324MHT 1/2 DR Deep Thin Wall Impact 2 1 J5012H SOCKET 3/8 DR 3/8 6 PT DEEP 1
J54110 SET SOCKET 1/2 DR 15 PC 6 PT (set 1 JS010H SOCKET 3/8 DR 5/16 6 PTDEEP !
breakdown indented below) J5008H SOCKET 3/8 DR 1/4 6 PT DEEP 1
J5412H SOCKET 1/2DR 3/8 6 PT 1 J72217 12 Pc Set 3/8 DR mm Deep Thin (set 1
J5414H SOCKET 1/2 DR 7/16 6 PT 1 preakdown indented below)
J5416H SOCKET 1/2 DR 1/2 6 PT 1 J7019MHT 3/8 DR Deep Thin Wall Impact 1 1
J5418H SOCKET 1/2 DR 9/16 6 PT 1 J7018MHT 3/8 DR Deep Thin Wall Impact 1 1
J5420H SOCKET 1/2 DR 5/8 6 PT 1 J7017MHT 3/8 DR Deep Thin Wall Impact 1 1
J5422H SOCKET 1/2 DR 11/16 6 PT 1 J7016MHT 3/8 DR Deep Thin Wall Impact 1 1
J5424H SOCKET 1/2 DR 3/4 6 PT 1 J7015MHT 3/8 DR Deep Thin Wall Impact 1 1
J5426H SOCKET 1/2 DR 13/16 6 PT 1 J7014MHT 3/8 DR Deep Thin Wall Impact 1 1
J5428H SOCKET 1/2 DR 7/8 6 PT 1 J7013MHT 3/8 DR Deep Thin Wall Impact 1 1
J5430H SOCKET 1/2 DR 15/16 6 PT 1 J7012MHT 3/8 DR Deep Thin Wall Impact 1 1
J5432H SOCKET 1/2 DR 1 6 PT 1 J701TMHT 3/8 DR Deep Thin Wall Impact 1 1
J5434H SOCKET 1/2 DR 1-1/16 6 PT 1 J7010MHT 3/8 DR Deep Thin Wall Impact 1 1
J5436H SOCKET 1/2 DR 1-1/8 6 PT 1 J7009MHT 3/8 DR Deep Thin Wall Impact 9 1
J5438H SOCKET 1/2 DR 1-3/16 6 PT 1 J7008MHT 3/8 DR Deep Thin Wall Impact 8 1
J5440H SOCKET 1/2 DR 1-1/4 6 PT 1 J4968 SET HEX KEY T HANDLE 11PC 1
52126 SET SOCKET 3/8 DR 13 PC 6 PT (set 1 ALY e T 1
breakdown indented below) breakdown indented below)
J5208H SOCKET 3/8 DR 1/4 6 PT 1 J47055LTM SOCKET 1/4 DR 5.5MM 12 PT DE 1
J5210H SOCKET 3/8 DR 5/16 6 PT 1 J4705LTM SOCKET 1/4 DR 5MM 12 PT DEEP 1
J5212H SOCKET 3/8 DR 3/8 6 PT 1 J4706LTM SOCKET 1/4 DR 6MM 12 PT DEEP 1
J5214H SOCKET 3/8 DR 7/16 6 PT 1 J4707LT™M SOCKET 1/4 DR 7MM 12 PT DEEP 1
J5216H SOCKET 3/8 DR 1/2 6 PT 1 J4708LTM SOCKET 1/4 DR 8MM 12 PT DEEP 1
J5218H SOCKET 3/8 DR 9/16 6 PT 1 J4709LT™M SOCKET 1/4 DR 9MM 12 PT DEEP 1
J5220H SOCKET 3/8 DR 5/8 6 PT 1 J4710LT™M SOCKET 1/4 DR 10MM 12 PT DEE 1
J5222H SOCKET 3/8 DR 11/16 6 PT 1 J4711LT™M SOCKET 1/4 DR 11MM 12 PT DEE 1
J5224H SOCKET 3/8 DR 3/4 6 PT 1 J4712LT™M SOCKET 1/4 DR 12MM 12 PT DEE 1
J5226H SOCKET 3/8 DR 13/16 6 PT 1 J4713LT™M SOCKET 1/4 DR 13MM 12 PT DEE 1
J5228H SOCKET 3/8 DR 7/8 6 PT 1 J4714LT™M SOCKET 1/4 DR 14MM 12 PT DEE 1
J5230H SOCKET 3/8 DR 15/16 6 PT 1 J52123 3/8in. Dr 6 Pt 10 Pc Set 3/16 (set break- 1
down indented below)
J5232H SOCKET3/8DR16PT ! J5206HS SOCKET 3/8 Dr 3/16 6 Pt Super Sho 1
J5208HS SOCKET 3/8 Dr 1/4 6 Pt Super Shor 1




Mfg Part # Description Qty Mfg Part # Description Qty
J5210HS SOCKET 3/8 Dr 5/16 6 Pt Super Sho 1 J4990-8MXL SOCKET HEX BIT 3/8 DR 8MM X- 1
J5212HS SOCKET 3/8 Dr 3/8 6 Pt Super Shor 1 J5441-6XL SET HEX BIT 1/2 DR 6 PC (set break- 1
J5214HS SOCKET 3/8 Dr 7/16 6 Pt Super Sho 1 down indented below)

J5216HS SOCKET 3/8 Dr 1/2 6 Pt Super Shor 1 A2 SOOI AN 2 DR T2 !
J5218HS SOCKET 3/8 Dr 9/16 6 Pt Super Sho 1 J5441174XL SOCKETHEX BIT 1/2 DR 1/4 X- !
J5220HS SOCKET 3/8 Dr 5/8 6 Pt Super Shor 1 SIS STV DR S L
J5299HS SOCKET 3/8 Dr 11/16 6 Pt Super Sh ] J54415/16XL SOCKET HEX BIT 1/2 DR 5/16 X 1
J5224HS SOCKET 3/8 Dr 3/4 6 Pt Super Shor 1 A ST ST 20 S e !
172117 9 P Set 3/8 DR SAE Deep Thin (set ] J54419/16XL SOCKET HEX BIT 1/2 DR 9/16 X 1
breakdown indented below) J4969 SET HEX KEY T HANDLE 6 PC 1
J7708HT 3/8 DR Deep Thin Wall Impact 1 1 J4739C SET BIT TORX 1/4 DR 6 PC (set break- 1
J7710HT 3/8 DR Deep Thin Wall Impact 5 1 down indented below)
[ 3/8 DR Deep Thin Wall Impact 3 ] J4739-10W SOCKET BIT 1/4 DRT10 TORX 1
J77aHT 3/8 DR Deep Thin Wall Impact 7 ] J4739-15W SOCKET BIT 1/4 DRT15 TORX 1
J16HT 3/8 DR Deep Thin Wall Impact 1 ] J4739-20W SOCKET BIT 1/4 DRT20 TORX 1
J7718HT 3/8 DR Deep Thin Wall Impact 9 ] J4739-25W SOCKET BIT 1/4 DR T25 TORX 1
J7720HT 3/8 DR Deep Thin Wall Impact 5 ] J4739-27W SOCKET BIT 1/4 DR T27 TORX 1
J7799HT 3/8 DR Deep Thin Wall Impact 1 ] J4739-30W SOCKET BIT 1/4 DRT30 TORX 1
J7724HT 3/8DR DP THIN WALL IMPACT 3/4 1 J2806SMP 6PC MINIATURE PLIER SET !
J5239C SET TORX BIT 3/8 DR 8 PC (set break- 1 J5450XL RATCHET PROTO LARGO 1/2° !
down indented below) J9300MS SCRWDR MAGNETIC BIT HOLDER 1
J5239-50W SOCKET BIT 3/8 DR T50 TORX 1 J4749XL RATCHET PROTO STD 1/4” 1
J5239-45W SOCKET BIT 3/8 DR T45 TORX 1 J5249XL RATCHET PROTO STD 3/8” 1
J5239-40W SOCKET BIT 3/8 DR T40 TORX 1 J5449XL RATCHET PROTO STD 1/2" 1
J5239-30W SOCKET BIT 3/8 DR T30 TORX 1 J406A 6IN REGULAR DUTY C-CLAMP 1
J5239-27W SOCKET BIT 3/8 DR T27 TORX 1 15-113 ST SAW HI TEN HACK 1
J5239-25W SOCKET BIT 3/8 DR T25 TORX 1 J57-531 21 0Z DEAD BLOW COMBO FACE ORANGE 1
J5239-20W SOCKET BIT 3/8 DR T20 TORX 1 J57-530 15 0Z DEAD BLOW COMBO FACE ORANGE 1
J5239-15W SOCKET BIT 3/8 DR T15 TORX 1 TR250 ST STPL BRAD GUN 1
J1209STS 9PC TORX BLADE SCREWDRIVER SET 1 TRA706T ST STPL 3/8” HD 1
(S BTG B 2L J5461W EXTENSION WOBBLE 1/2 DR 5 1
JT10314RS T10 X 3.25IN TORX ROUND BAR 1 15263W EXTENSION WOBBLE 1/2 DR 1 ]
JT15314RS T15 X 3.25IN TORX ROUND BAR 1 e N YR ]
JT20314RS T20 X 3.25IN TORX ROUND BAR 1 e EXTENSION 1/4DR 2 LOCKING ]
JT25314RS T25 X 3.25IN TORX ROUND BAR 1 o062l i T, ]
JT2704RS T27 X 4IN TORX ROUND BAR ! J5461L EXTENSION 1/2DR 5 LOCKING 1
JT3004RS T30 X 4INTORX ROUND BAR ! J6064C Torque WRENCH 3/8Dr 40-200 InLb 1
JT4006RS T40 X 6IN TORX ROUND BAR 1 1303L SNIP AVIATION LEFT ]
JT4506RS T45 X 6IN TORX ROUND BAR 1 J303R SNIP AVIATION RIGHT ]
JT8314RS T8 X 3.25IN TORX ROUND BAR 1 15809 ST SAW MINI HACK ]

J4990-SMXL dif\; :1?;|-|Btgd3|£:|3£)6 PC X (set break- 1 33725 FM TAPE CD 25 1/4" 1
J4990-10MXL SOCKET HEX BIT 3/8 DR 10MM X 1 551128 STFSHL BOX METAL LEGS !
A900AMXL SOGKET HEX BIT 3/8 DR AMM X. ] J77270P 3/8DR IMP UNV JOINT 3/8 X 3/8 1
J4990-5MXL SOCKET HEX BIT 3/8 DR 5MM X- 1 J74470p 1/2DR IMP UNV JOINT !
J4990-6MXL SOCKET HEX BIT 3/8 DR 6MM X- 1 JSF250 HAMMER SOFT FACE W/O TIPS !
J4990-7MXL SOCKET HEX BIT 3/8 DR 7MM X- 1 JSF25M HAMMER TIP 21/2 MEDIUM !




Mfg Part # Description Qty Mfg Part # Description Qty
JSF25T HAMMER TIP 2-1/2 TOUGH 1 J4814AM 1/4in Dr. 6 Point, 14mm 1
JSF25MH HAMMER TIP 2-1/2 MEDIUM H 1 J4815AM 1/4in Dr. 6 Point, 15mm 1
JSF25H HAMMER TIP 2-1/2 HARD 1 J5212SPL 3/8 dr SOCKET spline 3/8 12 1
JSF25XH HAMMER TIP 2-1/2 EXTRA HA 1 J5214SPL 3/8 dr SOCKET spline 7/16 14 1
J5364CF CROWFOOT 1/2 DR 2 OE 1 J5216SPL 3/8 dr SOCKET spline 1/2 16 1
J5368CF CROWFOOT 1/2 DR 2-1/8 OE 1 J5218SPL 3/8 dr SOCKET spline 9/16 18 1
J5372CF CROWFOOT 1/2 DR 2-1/4 OE 1 J5220SPL 3/8in dr SOCKET spline 5/8in #2 1
J5376CF CROWFOOT 1/2 DR 2-3/8 OE 1 J5012DPL SOCKET 3/8 DR DP 3/8 #12 12-SPLN 1
J5378CF CROWFOOT 1/2 DR 2-7/16 OE 1 J5014DPL SOCKET 3/8 DRDP 7/16 #14 12-SPLN 1
J5380CF CROWFOOT 1/2 DR 2-1/2 OE 1 J5016DPL SOCKET 3/8 DRDP 1/2 #16 12-SPLN 1
J5362FL CROWFOOT 12 PT 1/2 DR 1-15/16 1 J5018DPL SOCKET 3/8 DRDP 9/16 #18 12-SPLN 1
J5364FL WRENCH crowfool 2 flar 1 J5020DPL SOCKET 3/8 DR DP 5/8 #20 12-SPLN 1
J5250XL RATCHET PROTO LARGO 3/8" 1
J5006M SOCKET 3/8 DR 6MM 12 PT DEEP 1
J5021M SOCKET 3/8 DR 21MM 12 PT DEE 1
J5022M SOCKET 3/8 DR 22MM 12 PT DEE 1
J5023M SOCKET 3/8 DR 23MM 12 PT DEE 1
J5206H SOCKET 3/8 DR 3/16 6 PT 1
J5221M SOCKET 3/8 DR21MM 12 PT 1
J5221MH SOCKET 3/8 DR 21MM 6 PT 1
J5222M SOCKET 3/8 DR 22MM 12 PT 1
J5222MH SOCKET 3/8 DR 22MM 6 PT 1
J5223M SOCKET 3/8 DR 23MM 12 PT 1
J5223MH SOCKET 3/8 DR 23MM 6 PT 1
J5224M SOCKET 3/8 DR 24MM 12 PT 1
J5224MH SOCKET 3/8 DR 24MM 6 PT 1
J5225M SOCKET 3/8 DR 25MM 12 PT 1
J5225MH SOCKET 3/8 DR 25MM 6 PT 1
J5226M SOCKET 3/8 DR 26MM 12 PT 1
J5226MH SOCKET 3/8 DR 26MM 6 PT 1
J5270HAM 3/8in Dr. 6 Point, 7mm 1
J5281AM 3/8in Dr. 12 Point, 18mm 1
J5282AM 3/8in Dr. 12 Point, 19mm 1
J4705 SOCKET 1/4 DR 5/32 6 PT 1

J47205 SET SOCKET 1/4 DR 12PC 6PT M (set 1

breakdown indented below)
J48055AM 1/4in Dr. 6 Point, 5.5mm 1
J4805AM 1/4in Dr. 6 Point, 5Smm 1
J4806AM 1/4in Dr. 6 Point, 6mm 1
J4807AM 1/4in Dr. 6 Point, 7mm 1
J4808AM 1/4in Dr. 6 Point, 8mm 1
J4809AM 1/4IN DR.6 POINT , 9MM 1
J4810AM 1/4 Dr. 6 Point, 10mm 1
J4811AM 1/4IN DR.6 POINT , 1T1TMM 1
J4812AM 1/4in Dr. 6 Point, 12mm 1
J4813AM 1/4in Dr. 6 Point, 13mm 1




